Homework 1 Slurtlons

=9

v |

?UTW = |ot. 7§ !LLFI[,I_ ?ﬁl[’u’ = Iﬂl‘jh + ﬁl‘f’m

%Jsg . )7k #08 LP&._I

i
A
b -

G?rLfEﬂ = pfl_z P : ._F‘,;J aid (z ‘Qr——i—

fff“*wm i f’“’“ (?ﬂ\_}f_

Pren

A Tt = j'!-__ 3 % M_j',‘
b § Lftmf) = ? ?:I-ﬂ

Mf“‘ﬁ“j Varilles and r‘uﬂrﬂrj

| , A 1.
ﬁi"’f-‘" :Ftﬂﬁrﬁﬂ : ’ﬂ (_;Eﬂ__) e i’g‘—j}r_ Z dper

-Eihr_\j thy qonerctial of | ( “ g, }
both .P':]ﬁ ﬂflcl f&ﬂrmﬂjr‘_‘ﬂ : ?Jﬂfﬂf ?E‘fu ¢
. - i I}l:
Fi::.:, - | ot M= 29 ?]FJ 2 °* " a
- e ocm - —_— ;
R = @0b - T= (10 +277:08) K

= | m

m ' de.-u.r = @ I[qlf'
R

Ed.w-mr




12 eont, .

T“ % i} (_;;% 'EJJM»':}
Ll

?@War a

{ Pﬁmr 0,823 alhm {

@f’“‘”‘t‘f = 0 ¥3% par [

e
: - TR (T = Mgl <=5
D= 047 m mais = 150 kg §= 927
. £ - T- . = “T'. _J?jﬁ" :
E{'r'?h = rIS'J':':? LFD A - ? Ul 73

E’tbf : ‘;— Wg;j - 0, 05¢ kfo
Al =043
work = F « A Fﬂf: 15848 ] .







